Efficiency vs Dxy(PV)

g AR
R SRR E
ALY ST R
g | B
3 6
g of 10

e 1 s

o.4:— ------
02—
nummwu
Sagl Hh’Wn Hi
0E=35=15-10

lb 20 25

TP dxy(PV) (cm)

—=— DQM_TT_original

[ Efficiend]

—e— DQM_TT__mod_modelsdeep_truthfinal_reg_modelTEST-24
—— DQM_TT__mod_modelsdeep_somethingbetter

1.2

efficiency vs dxy(PV)

"=1-0.8-0. (.r—04 O

Ratio

Jith

Efficiency vs Dz(PV)
1.

Im'w
I‘ )

.TP dxy(PV) (cm

0.8 1
)

i
™TT

0.8]

efficiency vs dz(PV)

0.6|
0.4]

0.2

.........

Ratio

Efficiency vs Dz(PV)
1.

20

10
TP dz(PV) (cm)

30

S Lp T
o L .
5 f :
* 1—-------------------. -----------------
> B .
> r N
o - .
5 0} e
o B .
€ T :
[} o .
06_ .l.......a.......al ..................
0.4f 5
0.2 4-- e oe-e PR
| 1 *. ;
o 1R ;
R
0.5} +
0. =)

0.5

0.5 1
TP dz(PV) (cm)




	Contents
	Page 1


